
 

 

 

Sub:maths                            class -7 
                                                Topic-Application of Integers . 
 
Q.no.1 Solve the following word problems: 
a) The product of two integers is 270.If one of the Integers is -18,find the other Integer. 
b) Find an Integer which when multiplied by 4 & then divided by 9 becomes (-28). 
c) By what number should -324 be divided to obtain -18. 
d)If the quotient obtained on dividing an integer by 
-9 is -8,find the Integer. 
 
 
 


